Name: SQLUTI(\)/\’\Q

Instructions: cCircle the correct answer.
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a) -15 b) -7 . e 1. a 5
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4. If 0.04x = 20, then x =

a) 0;80 b) 5 c) 19.96 - d) 80 e) 500)
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7. 3%y (-2x7y)’ o C
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8. The graph of ‘3x — y + 6 = 0 crosses the X~ Ax:.s at X =
a) —6' c) 0 d) 2 -~ e) 6
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@ 2u - v). D) 2u - 31'1v2‘. o eyl -d) 46u2v -V
e): u2v> o ’ ' | o o -

10 The Length L of a sprlng is glven by L = 2F/3 + 10, where F
is the applied Force. What force will produce a length of 127
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X o+ 2y =.3 and 2x — 4y =

- é) X421 b) xz.fzx_l

2x-— 8 < 3x + 5 is equivalent to:

a) x <13 (b) x> -13] ¢) x <3 d x>3 e x< -3

3{+4 _ x+li

x2>+4jc. x2—16 -

' o1 =2 +4
a) 0 b) = T ) X

. 4 2x(x—4). Ax—-16

The sum of the two values that satisfy 3P +x=4 " is:
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The x coordinate of the point of intersection of the system
3 is:
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- Whic:h of the following are factors of x* - 16 2

I. (x - 2) - IL. (x+2) III. - (% +4)

a) T only b) IT only .c) III only ~d) I & II only
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